Unit 3: Effective Communication in Health and Social Care 
Assignment 2 work booklet: M2 & D2 
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	Learning Aim
	B
	Investigate barriers to communication in health and social care 

	Grading Criteria
	M2



D2

	Explain how measures have been implemented to overcome barriers to communication, with reference to a selected case. 

Evaluate the effectiveness of measures taken to remove barriers to communication, with reference to a selected case. 





Case Study 
Alice is 82 and has recently been admitted to her local nursing home. Her hearing has dramatically worsened over the last few months and she is also struggling with poor eye sight. Alice has also been diagnosed with Alzheimer’s disease and she constantly repeats herself. She has had a difficult life and has experienced many traumas over the years; she therefore finds it difficult to communicate to unfamiliar people. 
	Explain how these barriers could be overcome- I have put key questions that you need to answer and an example below.

(300 words minimum) 

	
Hearing – Why is hearing a communication barrier?
· How could this be overcome?-
Hearing test, hearing aid? People speaking clearer? Louder? Ensure she is in a room with limited/no background noise.
Sign language/ alternative forms of communication. 
You need to say what would happen if these barriers were overcome.

hearing is a communication barrier to Alice because if she can’t hear she might misunderstand what someone is saying. This could be overcome by asking Alice if she would like to go for a hearing test to see if she might need a hearing aid because she can’t hear properly, also this could be overcome by speaking to Alice a bit clearer so she understands what you are saying or taking Alice into a quiet room so it’s easier for her to hear and understand. This could also be overcome by teaching Alice sign language and to use gestures to make it a bit easier for her to communicate.  


Poor eye sight – Why is poor eye sight a barrier?

How could you overcome these barriers?
· Eye test? Needs glasses/contact lenses
· If she already has glasses she may forget to use them, you might need to remind her.
· Magnifying glass to see clearer

You need to say what would happen if these barriers were overcome.


Alzheimer’s disease –   Why is Alzheimer’s diseases a barrier to communication?

How could you overcome these barriers?
· Bringing family photos
· Items that she remembers or always used in her house.
· Written notes/alarms to remind her when to take medication
· Put a picture of key workers up in her room to remind her. 

You need to say what would happen if these barriers were overcome.

     

Traumas -   Why is the trauma Alice had in her life a barrier to communication?

How could you overcome these barriers?
· Build trust with a familiar face within the care home
· Counsellor so she can talk and overcome the trauma. 

You need to say what would happen if these barriers were overcome.

Unfamiliar people -  Why is unfamiliar people  a barrier to communication for Alice?

How could you overcome these barriers?
· Seeing the same few faces every day and not new faces and don’t remain regular. 
· Seeing less unfamiliar faces throughout the day. 
· If someone if unfamiliar to her but is going to be supporting her regularly they may want to talk and build a relationship first. 
You need to say what would happen if these barriers were overcome.


 





	Evaluate the effectiveness of the measures taken to remove barriers to communication 
Discuss how it would make the service user feel if these barrier were/ were not overcome 


	

Hearing – 
Would it be effective if the barrier was overcome? 
Why might it be difficult to take Alice for a hearing test? She already has an hearing aid or she doesn’t want one. 
But if the barrier was overcome how would Alice feel? More comfortable, safe because she can hear and communicate with others around her, she will also feel less isolated as she will be able to join in with conversations. 


Poor eye sight – poor 

Eye sight can be effective if it is over come because she will be able to see clearer. By making text fonts bigger is cheap enough for this to happen because it can just be printed out bigger so this is easy to put into place. 

What happens if poor eyesight is overcome? Feeling happier, being able to read, understand poster etc. 

Would it be difficult to get Alice an eye test?  It would be simple and easy to book an eye test as it doesn’t cost due to her age, the difficulty may arise when Alice doesn’t wish to have the eye test. She might already have glasses so doesn’t believe she needs to go although they might not be the correct strength. 

What would Alice be able to do differently if she got the eye test? 
If Alice goes for an eye test and gets glasses she will be able to see more clearly and she will be able to communicate with others this will make her happier and more comfortable about what is going on around her and also safer  


Alzheimer’s disease –
If the barrier or forgetting things wasn’t overcome how might this make Alice feel? 
This might make her feel frustrated and annoyed with herself as she keeps on forgetting when to take her medication and who the care worker is coming to visit her. 

What could she do it help her overcome this?
Write information and key dates down on postit notes to help them remember, they can also put pictures around the room of key workers.

How would she feel if this was overcome?
If this is overcome Alice might feel more comfortable and safer because she can remember things more easily  if this barrier isn’t overcome Alice could start to feel unsafe because she cant remember things and confused and make her feel unhappy and her memory could worsen because she isn’t doing anything to help her memory. Bring photos to the nursing home would also make Alice feel safer and more comfortable when she moves into her new home because they are her things that she has had and isn’t a new change for her. If this isn’t overcome she might not feel safe or comfortable because there is nothing familiar around her. 

Traumas –
 If Alice agrees to counselling this will be effective because….. 

It is easy to implement if Alice agrees to counselling, but there could be complications which could include…. 

If the barrier is overcome and is successful this will make the person feel?

 Alice will be more comfortable and feel safer about making new relationships and building trust with new people. If this barrier is not overcome Alice will continue to find it harder to communicate with unfamiliar people and not be able to build new relationships with people she may not know.     

Unfamiliar people – 
Would it be effective if the barrier was overcome? She would build new relationships and build trust, this would help her because……  

But if the barrier was overcome how would Alice feel?
[bookmark: _GoBack]if this barrier was removed it could be successful for Alice because it could help her build new friendships and be able to trust people she has recently met. Making sure that Alice sees as little new people as she can, might be difficult because the staff in the nursing home will all work different hours and not be around with her. If this barrier is taken away Alice might feel a happier person and be able to build new relationships with new people. If this barrier is not over come as a person Alice might feel like she can’t trust anyone and not be able to build relationships with people, also it could make her confused by seeing loads of new people she has never met before. 
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